FRTEE

B L CIEH KB,
5 2 B - CODEHE |A(##Bh =) FHERERUVHERBRZEEE
St.1 EFR-BEE I @R) RFRKEREEE (=)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.0 18.0 — 4.5 - BE |meE mR
78 BEh 29.0 275 — 6.8 5.0 BE mae mR
98 BEh 28.0 25.4 — 8.1 6.5 BE |meE mR
118 BEh 16.0 21.0 — 7.7 6.8 BE me mR
18 BEh 6.0 9.8 — 8.0 5.0 BE me mR
38| Bh 7.2 8.9 - 8.0 3.5 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 75LF | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 7.9 1.4(1.7) = <05 0.22 0.022
58 == 8.1 6.8 1.3 - <05 0.21 0.02
hE - - - - - - -
78 == 8.2 6.6 1.7 - <0.5 0.17 0.021
= 8.3 7.4 1.7 - <0.5 - -
115 == 8.1 7.8 1.0 - <0.5 0.25 0.022
hE - - - - - - -
1A == 8.3 8.7 1.0 - <0.5 0.26 0.024
= 7.8 10 1.4 - <0.5 - -
3A g = — = — — — -
BEIEE (REDHEHAD
LIS INESS ) ANfivoL| HE #ikeE |7ZrxikE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 = = = = = = = =
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJo0A
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 = = = = = = = =




TRIORRILETE s | vevy | TATY | xvey | wuy |MEERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ZEqE] 001LLF [0.00250F [ 0.006LLF | 0.003LLF [ 0.02LLF [ 001LLF [ 001LLF [ 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - - - —
18 - - - - - - - —
3H - - - = — — - -
ZTDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE] - ~ 3 - - -
RE - - 3 - - -
=] _ _ 2 _ _ _
=] _ _ 2 _ _ _
L e — 3 : - :
=] _ _ 3 _ _ _
=] _ _ 3 _ _ _
=] _ _ 3 _ _ _
A —HE - - 2 - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
EBIE| 16000 - 0.01
5A RE 19000 - 0.01
B 20000 - 0.01
= 17000 - -
9H ;E — — —
= 18000 - 0.02
1A S - = =
‘A =E 19000 - 0.02
= 4600 - 0.01
3H B X - 0



FRTEE

B L CIE DK,
5 2 B - COD#EH |A(E#ER) FHERERVHERBRZEEE
i St.2 |ZFR-$#EH T HHR) fKE R EREE (=)
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 18.0 17.5 — 12.9 — BE |meE mR
78 BEh 29.0 27.0 — 9.9 6.0 BE mae mR
98 BEh 28.3 25.5 — 10.5 6.0 BE |meE mR
118 BEh 15.0 21.0 — 10.8 8.3 BE |meE mR
18 BEh 5.8 10.4 — 10.8 6.0 BE meE mR
38| Bh 7.2 10.2 — 11.0 5.8 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83| 75LLE | 20LLF | 100051 F | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) = 8.1 1.4(1.7) 0.0 <0.5 0.19 0.018
58 == 8.1 7.3 1.3 - <05 0.17 0.017
hE - - - - - - -
78 == 8.2 6.9 1.7 0.0 <0.5 0.15 0.016
;E 8_3 _2 1_ - <6 - -
= . 7. 7 - 5 - -
SR hE - - - - - - -
115 == 8.2 8.8 1.1 - <0.5 0.18 0.018
hE - - - - - - -
1A == 8.3 8.6 1.0 0.0 <0.5 0.24 0.022
;E 8_1 9_ 1_3 - <6 - -
= . 7 . - 5 - -
3A A - = = — — — —
BEIEE (REDHAEHAD
NP INESS S E YN[ 7= VN IR £ fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
rOni| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
98 - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




75700A[13-550 _ sy | TANY T <o e .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.01LLTF | 0.00260F | 0.006LLTF [ 0.003LLTF | 0.02LLF | 001LLTF | 001LLTF | 10LLF
I <0.001 [ <0.0002 ] <0.0006 <0.0003 <0.002 <0.001 <0.001 0.17
58 - - - - - - - -

78| <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
98 - - - - - - - -
118 — - - - - - - -
18] <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.24
38 - - - - - — — -
ZNHIEE
I1/—) i SS LEH |rORkILL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FIE - - 2 0.005 - —
RE - - 2 - - -
B - - 4 - - -
= - - < 0.005 - -
B _ _ 2 _ — -
B _ _ 2 _ — -
B _ _ 2 _ — -
3A i — — = — — —
LY HEEE . .
(mg/1) (mg/1) (mg/1)
SEHTE] 19000 0.02 0.01
55 =B 20000 - <0.01
hE - - -
718 =E 20000 <0.01 <0.01
= 17000 — -
9A ; E ~ — —
= 19000 — 0.01
18 e = - =
18 =E 20000 0.02 0.02
= 15000 — 0.02
3A i = — =




FRTEE

B LXK,
5 B - COD#EE! |A(E#5) HELERUVHBRZEE
i St.3 |ZFR-$#EH T HHR) K EREEE (=)
—i%IEH _
K& (°C)
Xz %R (°C) =E e 2KE 1% B B TR =X k0
58 Bh 18.0 18.0 — 23.8 — BE e |
78 Bh 29.0 26.8 — 21.9 75 BE e |
9K Bh 28.7 25.0 — 19.6 9.5 BE e |
118 Bh 16.5 22.0 — 19.9 12.0 BE e |
18 BEh 75 11.0 — 235 8.0 BE i) |
38| Bh 7.6 10.5 — 23.8 11.0 BE Be BR
ERRIEIER
oH DO COD |XBE#HM |[h-~AFHoH 2% E
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
REME| 1.8~83] 15LLE | 20LLF | 1000BLF | JERH 0.3LLF | 0.03LLF
EHE(75%1E) - 8.1 1.1(1.4) 0.0 <0.5 0.18 0.017
58 =B 8.1 7.6 1.1 - <05 0.16 0.015
hE - - - - - - -
78 xB 8.2 6.9 14 0.0 <0.5 0.14 0.015
= 8.3 7.6 1.6 — <0.5 — —
9A T = ~ = — = — —
118 xB 8.2 8.5 0.9 — <0.5 0.16 0.014
hE - - - - - - -
1A *xB 8.3 8.6 1.3 0.0 <05 0.25 0.022
8.2 9.1 0.5 — <0.5 — —
3 [=]
REEIER (REDHAEHAI
I INESID P E) NfiooL it fiKkEE [7rxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — —
58 - - - - - - - -
78| <0.002 — <0.005 <0.02 <0.001 <0.0005 — —
9A - - - - - - - -
118 — — — — — — — —
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — —
38 - - - - - - - -
Jooni| migdk (1,2-2900| 1,1-S4an [$z-1,2-S4(1,1,1-F)4al 1,12-ry4a | RS8R
2 b2 3 IaY IFLY AaAxTFLy a4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78| <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 — — — — — — — —
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




Th3o0a0(1,3->9n — . sea FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18

5A[ - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.1
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.25
3H - — — — - - - -
ZTNDIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EBIE - - 2 <0.005 - -
RE - - 2 - - -
=] _ _ 2 _ _ _
B = - 2 <0.005 - -
i —— 3 : : -
=] _ _ 3 _ _ _
=] _ _ 2 _ _ _
=] _ _ 3 _ _ _
A —HE - - 2 - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
SFﬂﬂI_E 20000 0.02 0.01
58 E3E] 19000 - <0.01
hE - - -
78 AL 19000 <0.01 <0.01
= 17000 - -
9AH ; E — — —
= 20000 - 0.01
118 th — — =
18 =E 20000 0.02 0.02
= 22000 - 0.01
3H B 0 - .




FRTEE

B LTI HKE,
S J =1 FEIERY gy
5 2 BixiE - COD#E! |AGG#HBIR) i ?%&Uia? ?%ﬁ_tﬁ
St.4 EFR-BEE I @R) ReFKEREEE (Z)
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 17.5 18.0 — 24.0 - BE |meE mR
78 BEh 29.0 27.3 — 16.0 7.0 BE |meE mR
98 BEh 28.4 25.0 — 17.5 8.5 BE |meE mR
118 BEh 15.0 21.0 — 18.3 9.0 BE |meE mR
18 BEh 6.0 10.7 — 18.4 8.0 BE meE mR
38| Bh 7.6 10.5 — 18.0 10.5 BE Be BR
4FRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LIF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 8.2 1.1(1.4) - <0.5 0.17 0.017
58 == 8.2 7.7 1.1 - <05 0.16 0.019
hE - - - - - - -
78 == 8.3 7.3 1.4 - <0.5 0.13 0.015
= 8.3 7.9 1.9 - <0.5 - -
118 == 8.2 8.8 1.0 - <0.5 0.16 0.015
hE - - - - - - -
1A == 8.3 8.5 0.8 - <0.5 0.24 0.020
= 8.2 9.0 0.6 - <0.5 - -
3R g - = = — — — -
BEIEE (REDHEHAD
LIS INESS ) ANfivoL| HE #ixksE [7rxrLkéR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =
oani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJo0A
) o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =




Tr>980(1,3-5n = PN ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF | 000280 F | 0.006LLF | 0.003LLF [ 0.02LLF | 0.01LLF | 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9A8 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
EDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
=E - - 4 - - -
=] _ _ 2 _ _ _
1R ; E - - = — — —
=] _ _ 2 _ _ _
=] _ _ 3 _ _ _
118 ;E — — — — — —
=] — — 1 — — _
=] _ _ 2 _ _ _
3R g — — = — — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
FEHE| 20000 - 0.01
5H %E | 19000 - <001
B | 19000 - <001
B | 17000 - -
& | 20000 - 0.01
A Tam [ - - -
18 =RE 20000 - 0.02
= 22000 - 0.01
3R g — — =




FRTEE

B LT LK,
5 B - COD#EE! |A(E#5) HELERUVHBRZEE
i St.5 |23 - SRR T B KBRS EE (2)
—i%IEH _
K& (°C)
Xz %R (°C) =E e 2KE 1% B B TR =X k0
58 Bh 17.0 17.5 — 20.4 — BE e |
78 Bh 29.0 27.3 — 17.6 75 BE e |
9K Bh 28.0 25.1 — 18.8 10.5 BE e |
118 BEh 13.0 215 — 18.3 9.0 BE e |
18 BEh 5.0 10.4 — 19.5 7.3 BE e |
38| Bh 8.0 10.3 — 18.5 9.5 BE Be BR
HRREIER
oH DO COD |XBE#HM |[h-~AFHoH 2% E
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RENE| 1.8~83] 15LLE | 20LLF | 1000BLF | JERRH 0.3LLF | 0.03LLF
EHE(75%1E) - 8.1 1.1(1.6) 2.0 <0.5 0.18 0.016
58 =B 8.1 75 1.1 - <05 0.16 0.012
hE - - - - - - -
78 xB 8.2 7.3 15 0.0 <0.5 0.13 0.014
= 8.3 7.6 1.3 — <0.5 — —
9A T = ~ = — = — —
118 xB 8.2 8.8 0.9 — <0.5 0.16 0.015
hE - - - - - - -
1A *xB 8.3 8.4 1.0 4.0 <05 0.25 0.022
8.2 9.2 0.8 — <0.5 — —
3 [=]
REEIER (REDHAEHHID
I INESID P E) NfiooL it fiKkEE [7rxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — —
5H - - - - - - - -
78| <0.002 — <0.005 <0.02 <0.001 <0.0005 — —
9H - - - - - - - -
118 — — — — — — — —
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 — —
3H - - - - - - - -
oooni| mige [1,2->900]1,1-CHaa [P z-1,2-C4(1,1,1-k)H0[ 1,1,.2-ry4a | FYS0O0
2 b2 3 IaY IFLY AaAxTFLy a4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
5H - - - - - - - -
78| <0.002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9H - - - - - - - -
118 — — — — — — — —
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
3A - - - - - - - -




Th3o0a0(1,3->9n — . ses FARY TN .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF | 0.006 LF [ 0.003LLF | 0.02L8LF | 0.01LLF 0.01LLF 10ELF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.16

sA[ - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.07
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.25
3H - — — — - - - -
ZTNDIEE
Ix/—) & SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 2 0.005 - -
RE - - 2 - - -
=] _ _ 1 _ _ _
B = - 2 0.005 = =
=] _ _ 3 _ _ _
=] _ _ 1 _ _ _
=] _ _ 2 _ _ _
Sl . - : - - -
(4] BN . .
(mg/1) (mg/1) (mg/1)
SFﬂﬂI_E 20000 0.02 0.01
55 =B 20000 - <0.01
hE - - -
78 AL 19000 <0.01 <0.01
= 18000 - -
9AH ; E — — —
= 20000 - <0.01
118 th — — —
18 =E 20000 0.02 0.02
= 21000 - 0.01
3H B . - .




FRTEE

B L CIE DK,
S J =1 FEIERY Limis
5 B - COD#EH! A(*ﬁ?] ) mix ?%&UT? z ﬁ_tﬁ
St.6 [EFR-BEE I (EER) ReFRKEREEE (Z)
—iRIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 16.3 18.5 — 26.0 - BE |meE mR
718 BEh 285 26.8 — 29.6 8.5 BE mae mR
9A BEh 27.8 25.0 — 28.0 8.3 BE mae mR
118 BEh 13.0 22.0 — 31.0 12.5 BE |meE mR
18 BEh 5.0 10.5 — 27.8 6.8 BE me mR
38| Bh 8.3 10.3 — 31.4 11.3 BE Be BR
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EE(E]| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) = 8.1 1.2(1.6) - <0.5 0.19 0.018
58 == 8.1 75 1.1 - <05 0.15 0.011
hE - - - - - - -
78 == 8.3 7.2 1.7 - <0.5 0.13 0.013
hE - - - - - - -
oF == 8.3 7.7 1.6 - <0.5 0.16 0.026
hE - - - - - - -
118 == 8.2 8.3 0.9 - <0.5 0.17 0.014
hE - - - - - - -
1A == 8.3 8.5 1.1 - <0.5 0.25 0.022
hE - - - - - - -
3H == 8.2 9.2 0.9 <0.5 0.25 0.024
e - - - - - - -
BEIEE (REDHEHAD
IS INESS S ) ANfvoL| HE #ikeE |7ZrxkE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =




Tr>980(1,3-5n = PN ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF | 000280 F | 0.006LLF | 0.003LLF [ 0.02LLF | 0.01LLF | 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9A8 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
EDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - 2 - - N
=E - - 3 - - -
=] _ _ 3 _ _ _
1R ; E - - = — — —
=] — — 1 — — _
=] _ _ 3 _ _ _
118 ;E — — — — — —
=] _ _ 2 _ _ _
=] _ _ 2 _ _ _
3R g — — = — — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
FEHE| 20000 - 0.01
5H %E | 19000 - <001
& | 20000 - <001
B | 17000 - -
& | 20000 - 0.01
"R Tam [ - - -
18 =RE 20000 - 0.02
= 22000 - 0.01
3R g — — =




